a(d cot(d))

i

Y |1 A
O #Ikﬁ. : ”‘#ﬂ

1111 -
5

i *M

3 -3 -2 -1 0 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)
—=— DQMstep3_QCD_CKF

—e— DQMstep3_QCD_default
—— DQMstep3_QCD_defaultNEWT

.............................................

z

SICEWACL
aloa,) (cm)

10_2::5: ::

1072z A i

10° sk h

Ratio

0% sn e v ie sweml) ; A
3 2 -1 0 1 2 3 -3 -2 -1 0 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)

) i
Trrr T 1T L

=
TTTT

0L p/p,)

,_.
<
L

10726

Ratio

-3 2 T 0 T2 3
TP n (PCA to beamline)



	Contents
	Page 1


